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Y ou can make pancakes 15 times.

2 3 X 3
=15
1

11
18. 378
+3.94
12.72

111

19. 19.890
+4.372
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20. 7.678

-2.365
5.273

010

21. 14214

-4.103
10.107

22, 5.3
x_8
42.4

53x8 =424
Estimate: 5.3 X8 = 5x 8 = 40
42.4 = 40 v

23. 6.1
x 17
42.7

6.1x7 = 42.7
Estimate: 6.1 X7 = 6 X7 = 42
427 = 42 v
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24. 4.68
X 3
14.04

4.68x3 = 14.04
Estimate: 468 X3 = 5Xx3 =15
1404 = 15 v

25. 9.475
x 8.03
28425

75800

76.08425
9.475 % 8.03 = 76.08425

Estimate: 9475x 8.03 = 9x 8 = 72
76.08425 = 72 v

26. 4.42
x 0.27
3094

884
1.1934

0.27 x 4.42 = 1.1934

Estimate: 027 X 4.42 = ix 4 =1

1.1934 = 1 v
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27. 0.244
X 0.051
244

1220

0.012444

0.051x 0.244 = 0.012444

1
20

1

Estimate: 0.051 x 0.244 = = E = 0.0125

x

g

0.012444 = 0.0125 v

28. A = {w = 13.8(10.4)

13.8
x10.4

552
138
143.52

The arca of the computer screen is 143.52 square inches.

6.8+4=1.7
Estimate: 6.8 + 4 =8+ 4 = 2
1.7 =2 v
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30, 22
6)13.2
-12

12
-12
0

132+6+4=22+4= 6.2
Estimate: 13.2 + 6+ 4 =12 +6 +4 =2+ 4 =6

62 =6V
7.1
31. 7149.7
—49
07
d
0
497 + 7 = 7.1
Estimate: 49.7 + 7 = 49 =7 = 7
71 =7V
32. 30
0-12j3£{_’, — 12)360
—360
0
3.6 +0.12 = 30
Estimate: 3.6 - 0.12 = 3.6 + 0.1 = 36 =1 = 36
30 = 36 vV
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33. 0.05
2. I , :

5 Gkvlﬁ25 — 25)1.25

=125

0

0.125 + 2.5 = 0.05
12

Estimate: 0.125 + 2.5 = 0.12 + 3 = o 3 =0.04
0.05 = 0.04 v
34. 5.7
3. ] : :
9 22&3 — 39)222.3
—~195
273
=273
0

2223 + 39 =57
Estimate: 2223 + 39 = 24 -+ 4 = 6
57 =6 v
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